
Subject: Would you consider this a bug?
Posted by David Kastrup on Wed, 30 Sep 1998 07:00:00 GMT
View Forum Message <> Reply to Message

After doing

a=[3,4,5]
a[[2,1,0]] = a

a will be set to [3,4,3]

One has to write
a[[2,1,0]] = a + 0

in order to get the more correct seeming [5,4,3].

Would you think this a bug?

-- 
David Kastrup                                     Phone: +49-234-700-5570
Email: dak@neuroinformatik.ruhr-uni-bochum.de       Fax: +49-234-709-4209
Institut fï¿½r Neuroinformatik, Universitï¿½tsstr. 150, 44780 Bochum, Germany
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